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Match #7

These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions, which were then edited by Adam Fine, Raj Dhuwalia, Marian Suter, Dan Goff, Fred Morlan, Tom Chuck and Tom Egan. 
Competitors must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions is permitted.
(b)
Releasing these questions to entities who are not associated with the tournament is prohibited. 

First period: 15 tossups, 10 points each
1.
Benin City is not in Benin, but rather in this country to the east. Other cities here include Port Harcourt and Kano (KAH-noh), and ethnic groups include the Fulani, Hausa and Ibo. In 1991, what African country moved its capital to the central city of Abuja from the coastal city of Lagos?

ANSWER: Nigeria
2.
An ideal one obeys the equations V sub one over V sub two equals N sub one over N sub two and I sub one over I sub two equals N sub two over N sub one.  Name this device, usually consisting of two coils, that steps up or down voltage or current and is indeed “more than meets the eye.” 

ANSWER: transformer 
3.
It starts when Lov Bensey stops at his father-in-law’s to discuss marital problems with his 12-year-old bride, Pearl. However, Lov is seduced by his harelipped sister-in-law, Ellie May, and gets his turnips stolen. Traveling preacher Bessie Rice likes 16-year-old Dude, who is more interested in her new car than in her. Grandma gets run over and Jeeter and Ada are burned to death while they sleep in what novel by Erskine Caldwell? 

ANSWER: Tobacco Road
4.
He was sentenced to death in 1980 for his involvement with the Dawa Party, and spent time in exile in both Syria and Iran.  After Ibrahim al-Jaafari was removed as the first candidate for the job due to Sunni and Kurdish opposition, this man was named in his place.  Recently in an interview he stated that he hates his job and wished he could leave before his term ended.  Who is this man, the current prime minister of Iraq?

ANSWER: Nouri al-Maliki
5.
The largest of these has 780,000 members and is located in Seoul. In the US, most of them ** are located in the Bible Belt and are usually the result of one unusually gifted pastor. Lynchburg’s Thomas Road Baptist Church and McLean Bible Church are examples of what type of church that has average attendance greater than 2,000?

ANSWER: megachurches (prompt on “church”, accept church congregation before the **)

6.
Programs currently airing on this network include “Rob & Big,” centering on a skateboarder, his bodyguard, and their bulldog Meaty; and “Parental Control,” where parents try to find a new boyfriend for their daughter.  These shows, as well as “TRL,” can be found on what channel that plays far fewer videos than it used to?

ANSWER:  MTV (or Music Television)

7.
This poem appeared in 1910’s Rewards and Fairies and its author said it was inspired by Leander Jameson (jay-mis-sun). Written as a note from a father to his son, the father advises his son to “meet with Triumph and Disaster and treat those two imposters just the same.” The line, “And – which is more – you’ll be a Man, my son!” ends what poem by Rudyard Kipling?

ANSWER: “If---“ 

8.
Once known as Kaiser-Wilhelm-Spitze, there is no known record of volcanic activity, though there may be magma as little as 300 meters below the summit. The Furtwangler (FURT-vang-ler) glacier atop the summit is rapidly retreating.  Kibo is the highest of the three volcanoes atop what mountain whose name means 'White Mountain' in Masai, the highest free-standing mountain in the world and the highest point in Africa?

ANSWER: Mount Kilimanjaro
9.
In its decision, the Supreme Court found that “The mind can scarcely conceive a system for regulating commerce which shall exclude all laws concerning navigation.” Thus, the plaintiff was allowed to keep running his ferry service between New York City and New Jersey’s Elizabeth Point. What 1824 Supreme Court case held that the Constitution’s Commerce Clause allowed Congress to regulate interstate commerce?

ANSWER: Gibbons v. Ogden
10.
Dio Cassius said she had “greater intelligence than often belongs to women,” that “she was very tall” and that “a great mass of the tawniest hair fell to her hips.” After the death of her husband Prasutagus (prah-SOO-tah-gus), she was whipped and her daughters raped. She raised a revolt that was defeated at the Battle of Watling Street. What Queen of the Iceni (ee-SEH-nee) led, in 60 and 61 AD, a revolt against Roman rule in Britain? 

ANSWER: Boudica (BOO-dih-kah) or Boadicea
11.
He was tutored by Vasily Zhukovsky (zhoo-KOFF-skee) and showed a kind temperament and no interest in soldiering. He suppressed the January Uprising in Poland, but gave the Finns a great deal of freedom. Losing the Crimean War early on helped smooth the way for his ideas, such as abolishing the death penalty and abolishing serfdom. What tsar’s reforms were brought to an end by an assassin’s bomb in 1881?

ANSWER: Alexander II
12.
THIS IS A COMPUTATION QUESTION. What is the degree measure of an interior angle of a regular pentagon?

ANSWER: 108 degrees
13.
When he was 22, he met the eight-year-old Esther Johnson, who eventually became the closest thing he had to a wife. His essay-writing skills are revealed in “The Drapier’s Letters” and “An Essay on Modern Education.” Who is perhaps best-known for the play A Tale of a Tub, the essays “Battle of the Books” and “A Modest Proposal” and for the novel Gulliver’s Travels? 

ANSWER: Jonathan Swift
14.
The curve in the border between the two halves of its symbol comes from the path the Sun takes across the sky. The dots in each half represent the fact that one is contained in the other, and vice-versa. While the Tao Te Ching (TOW tay ching) only uses these exact words once, what two opposite forces keep the universe balanced in Chinese cosmology?

ANSWER: yin and yang (or yin-yang) 

15.
It is caused by the Borrelia (bor-REL-lee-uh) burgdorferi (burg-dor-FAY-ree) bacteria. Like syphilis, it has three stages; the third causes massive arthritis. Some people who get this disease have a “bulls-eye” rash around the area of infection. It is named after a town in Connecticut where several cases appeared in 1975.  Name this disease transmitted by the deer tick.

ANSWER: Lyme disease

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What mountain range’s Oriental (oh-ree-ayn-TAHL) and Occidental (oak-see-dayn-TAHL) branches make up most of the territory of Mexico? 

ANSWER: Sierra Madre
1B.
What word, from the Greek for “servant-woman,” refers to a woman that provides non-medical support for a new mother and family immediately after childbirth?

ANSWER: doula
2A.
Alexander Litvinenko (lit-vih-NEN-koh) was murdered in December, following exposure to what rare element discovered by Pierre and Marie Curie?

ANSWER: polonium
2B.
THIS IS A COMPUTATION QUESTION – TWO ANSWERS REQUIRED.  Which is larger and by how much? Square A, which has side length 8 feet or Square B, which has diagonal length 10 radical 2 feet? 

ANSWER: Square B by 36 square feet
3A.
Write down the sentence, (quizmaster: read slowly) “I would have bought you a ring.” (quizmaster: read normally) What tense is the verb “would have bought” in that sentence? 

ANSWER: past perfect conditional (prompt on “conditional”)

3B.
What old unit of British currency was equal to 21 shillings and is also the name of an African country?

ANSWER: guineas

4A.
THIS IS A COMPUTATION QUESTION.  Using 4 as the base, what is the logarithm of 256?

ANSWER: four
4B.
In the term GI tract, what does GI stand for?

ANSWER: gastrointestinal
5A.
What sixteen-word poem in eight lines has the title object “glazed with rain water” and is a familiar work by William Carlos Williams?

ANSWER: “The Red Wheelbarrow”

5B.
What older half-brother of Isaac, the ancestor of the Arabs, was Abraham’s son with his concubine Hagar (HAY-gar)? 

ANSWER: Ishmael
6A.
What law states that the solubility of a gas in a liquid is proportional to the pressure of the gas over the solution?

ANSWER: Henry’s law

6B.
A vorpal blade is used to slay the title monster in what poem that appears in Lewis Carroll’s Through the Looking-Glass?
ANSWER: “Jabberwocky”

7A.
What does e to the i pi power equal?

ANSWER: -1
7B.
Which musical instrument, prominently featured in the scherzo (SKAIR-tsoh) to Beethoven’s Ninth Symphony, consists of a skin stretched over a large copper bowl?

ANSWER: timpani, timpano, or kettle drum(s)
8A.
A 1990 budget agreement that included revenue increases meant the first George Bush broke what six-word promise he made during his 1988 nomination acceptance?

ANSWER: “Read my lips: no new taxes”

8B.
Give the computer term for a piece of software embedded in a hardware device that will tell the computer how the device can be run, and thus can be changed with an update.

ANSWER: Firmware 
9A.
What type of photoreceptor cell in the eye sees bright light and color?

ANSWER: cones

9B.
THIS IS A COMPUTATION QUESTION. What is 2 cubed plus 15 squared?

ANSWER: 233
10A.
Later made into a live-action movie starring Matthew Broderick, what 1980s cartoon featured evil mastermind Dr. Claw, Brain the Dog, a girl named Penny, and a bionic detective voiced by Don Adams?

ANSWER: Inspector Gadget
10B.
What European country established its independence in 1830 as a neutral, Catholic kingdom?

ANSWER: Belgium 

Third period, 15 toss-ups, 10 points each

1.
What formal second-person singular pronoun, accompanying verbs conjugated in the third person, is abbreviated Ud. (you-dee-period) and used instead of tú (too) in formal writing and speaking? 

ANSWER: usted (oo-STAYD)

2.
Its name comes from the practice of giving unwanted parts of slaughtered pigs to slaves. It is the nickname given on Capitol Hill to many projects known as “earmarks.” Agriculture subsidies and “roads to nowhere” are among the most common variety of what projects whose general benefit is limited, but help politicians get re-elected?

ANSWER: pork barrel (prompt on “pork”)

3.
Depending on which version of this novella you read, you might think the ship’s name was either Bellipotent or Indomitable. Alternately, you might read a preface the author removed from the first draft or think he was a “foretopman” as opposed to a “sailor.” John Claggart and Captain Edward Vere appear in what work that was discovered in 1924 among the artifacts of Herman Melville?

ANSWER: Billy Budd, Foretopman or Billy Budd, Sailor
4.
A story in the Poetic Edda claims that he had runes carved on his teeth.  He was born because Loki had to keep a frost giant from claiming the Sun, the Moon, and Freya as a reward for building the wall around Asgard.  Loki, disguised as a white mare, ran away with what animal’s father, giving birth to this eight-legged horse owned by Odin?

ANSWER:  Sleipnir (SLIPE-neer)

5.
Hydrazoic acid is its conjugate. When combined with sodium, this anion is used in airbags. With a charge of minus one, name this anion made of three nitrogen atoms.

ANSWER: azide 
6.
In physics, it is a simple machine used to separate two objects apart through application of force. In politics, it describes an issue such as gun control or abortion that is designed to sharply divide the population. What word is also the first name of Luke Skywalker’s wingman Wedge? 
ANSWER: wedge

7.
She won 54 libel lawsuits in 1903 after newspapers alleged she had been arrested for stealing to support her cocaine habit. At first, she managed her husband, Frank Butler’s, career; the roles switched when he realized she was better. She came within ten inches of preventing World War I when she shot a cigarette from the hand of the future Kaiser Wilhelm. What Wild West performer was known as “Little Sure Shot?” 

ANSWER: Annie Oakley
8.
According to the EPA, each one you use saves 450 pounds of greenhouse gas emissions.  Despite their popularity, they contain trace amounts of mercury, making disposal an issue. What device works through the electronic excitement of a mercury vapor and white phospor coating on the tube, and has been pushed by WalMart, among others, as the replacement to energy-consuming incandescent bulbs?

ANSWER: compact fluorescent light bulbs (prompt on “fluorescent”)

9.
Born on the same day as Marilyn Monroe, he first gained fame as a film actor, starring as Larry “Lonesome” Rhoades in A Face in the Crowd.  By 1960, he had moved to TV, where he co-starred with Jim Nabors, Ron Howard, and Don Knotts in a show set in Mayberry, North Carolina.  Which actor played Sheriff Andy Taylor in his own sitcom?

ANSWER:  Andy Griffith
10.
It is also called the inferior maxillary bone. Each side of this bone attaches to the temporal bone of the skull. What is this bone, also known as the dentary bone or the jawbone?

ANSWER: mandible or mandibula (accept jawbone or dentary bone before it is said)
11.
Now hanging in the Philadelphia Museum of Art, this work first found its way to America in 1913, where one critic called it “an explosion in a shingle factory”.  Identify this “talk of the Armory Show”, a semi-abstract work attempting to capture motion, painted by Marcel Duchamp (doo-SHAHMP).

ANSWER:  Nude Descending a Staircase, No. 2

12.
This poem makes reference to “cactus land,” the “prickly pear” and men whose heads are stuffed with straw. Its “prelude” includes two allusions to Heart of Darkness, with the line “A penny for the Old Guy” preceded by “Mistah Kurtz – he dead.” The final two lines are a reference to Guy Fawkes. The lines, “This is the way the world ends / Not with a bang but a whimper,” conclude what poem by T.S. Eliot?

ANSWER: “The Hollow Men”

13.
It has three crystalline structures: the gamma and beta phases exist below 420 Kelvin and the alpha phase exists above that. Due to this change in structure, it is a very fast and powerful ion conductor, or solid electrolyte. It is a yellow, crystalline solid with molecular mass 234.77. Name this compound used in photography, as an antiseptic, and in cloud seeding with formula AgI.

ANSWER: silver iodide 
14.
THIS IS A COMPUTATION QUESTION.  For what value of x is the function y equals 5 over the quantity 7x plus 133 end quantity undefined?

ANSWER: x equals minus 19
15.
He defeated Charles Pinckney and DeWitt Clinton to win his two terms as President. He is perhaps better-known for proposing twelve amendments to the Constitution in 1789, eleven of which have been ratified, or for authoring, with Alexander Hamilton and John Jay, the Federalist Papers. What 4th President served between Thomas Jefferson and James Monroe?

ANSWER: James Madison
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Constance, a young married woman, is looking for love after her wealthy husband becomes paralyzed. She finds it in her gamekeeper, Oliver Mellors, and by the end of the book they are both divorcing their spouses. Australia’s government banned a book about its 1960 obscenity trial in the UK. The US allowed its publication in 1959, thirty-one years after its writing. What is this oft-censored novel by D.H. Lawrence?

ANSWER: Lady Chatterley’s Lover
2.
The Germans captured Fort Douaumont (doo-oh-MAWN) on February 25 and Fort Vaux (voh) on March 8, but failed to capture Fort Souville. When the Battle of the Somme started on July 1, the Germans had to withdraw their artillery, and by December, the French had forced the Germans back. French general Robert Nivelle said “Ils ne passeront pas” (eel neh pah-ser-RAWN pah) during what 1916 World War I battle? 

ANSWER: Battle of Verdun
3.
THIS IS A COMPUTATION QUESTION. How many yards are in two miles?

ANSWER: 3,520 yards

4.
Mike Krzyzewski (Shuh-CHEF-ski) was one of this coach's former players while he coached at West Point.  Dick Vitale gave him the nickname "The General," and he led the Men's Basketball team to gold at the 1984 Olympics.  Who is this current Texas Tech coach and former coach at Indiana, who passed Dean Smith on January 1 for the lead in NCAA career men's basketball coaching victories?

ANSWER: Bob Knight
5.
After World War II, he disputed Werner Heisenberg’s account of their 1941 meeting. He proposed that electrons could drop from high-energy to low-energy levels, emitting a photon while doing so. The atomic model that showed electrons in orbits around a nucleus is named for what Danish physicist? 

ANSWER: Niels Bohr

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

